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Write the dissociation equation of water [p’l;i (;} !:? a[gfoq

. v7_ v alvpnd ) pH + pOH =14
What is the name of Hz0* ? é’”\;fd DL (OF [H:0:] [OH] =1 x 104

What is the name of OH?7 L’\\f f")j ORI é‘jﬁg EITA
In a solution with pH = 4, how does the [H30*] compare to the [OH]?

Which do you have more of? ﬁ ( & (")’* ?
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What is the factor between each pH unit (pH =10 and pH = 11)? /C) XS

What is the factor between 3 pH units (pH = 4 and pH = 7)?__| DOOS

What is the pH of a solution of 0.03 M HBr? 2 253,
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What is the pH of a solution with 6.5 x 105 M H30+7 (‘ét 2

What is the pH of a solution w1th 0.05 moles of HBr in 330 L}ter of water?
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If a solution has a pH = 5.6, then [Hs += @?i ég:dﬁ\brbasm?
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Iif a solution has a pH = 10.1, then [H:0Y] =39 xip ! acidic {ba@
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If a solution has a pOH = 9.6, then [OH] = 2.5 ¥/D d@cidic’or basic?
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If a solution has a pOH = 2.1, then [OH-] = 0.007C ! agfdlc ozcbasrc?ﬂ
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If a solution has a [OH-] =5.5x 10 4, then [H:0O*] = {8 ED acidic ogbag;g%
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It a solution has a [H:07 = 2.7 X 10 by thenq[OH 7 =20 X0 acidic 67 basids
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If-a solution has a pH = 1.5, then pOH = £
/o~ 5 =25
If a solution has a pOH = 7.8, then pH =_ {2, A gwagld;éorbas;o?
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